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N & 0l & AF S & M M

P0ISHE 20& LIS H MIS ~ SES
SH: TMIS
Hm: FOIME |25

BB - S (31) - MRAY - BES il 2
148,780 135,180 13,600
B Jlgt st 80,280 70,400 9,880
HEH 29 Wast 80,280 70,400 9,880
& 2= X 59,040 55,760 3,280
301 LA Z 59,040 55,760 3,280
058 -0 -tHESEHS 59,040 55,760 3,280
os&d=¢ 200,000& x18H x123| 43,200
OsH&NH= 200,000& x18H x23| 7,200
O3 oassg 20,0003 «18H 23| x12& 8,640
QXX =24 4,900 4,900 0
201 £B-2d | 4,500 4,500 0
01 At 22l 4,500 4,500 0
OFQURNAARS sloaasy
15,0002 »25%H «12& 4,500
301 LAz 400 400 0
04 TtELHUHA 2 400 400 0
OX=L=EU OrAlHl 400
SMFRA & el 15,140 8,540 6,600
201 LB-2d| 6,140 5,640 500
02 =224l 6,140 5,640 500
OdzHl 1,500
OsAtZd SR X 1,500
OX&Es A2l 2,000
ORogdHFH S9H| 95,000& 128 1,140
401 AIEHIZL 2CHYI 9,000 2,900 6,100
01 A& Hl 9,000 2,900 6,100
OXist Y£TA L T2F 0/&BA
9,000,000& =14 9,000
=SxAME 29 1,200 1,200 0
201 Let2d] 1,200 1,200 0
02 =224l 1,200 1,200 0
OXlot== HIIR2= 100,000 =128 1,200
HY2IZH(RAMIS) 68,500 64,780 3,720
2l 68,500 64,780 3,720
224l 68,500 64,780 3,720
201 et 27,700 26,380 1,320
01 At 2teltl 14,700 13,880 820
Ogt=&H| 10,000
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2N 2MH1S
B #HSAPL(PHIS)
@2 Jl2&tl (e &)
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
ozg=sY 500
OANZAZ2X SAHl  7,000& 54! x10H x12& 4,200
02 3524t 13,000 12,500 500
O332= % HA 13,000
202 04| 31,200 28,800 2,400
01 2L Y] 31,200 28,800 2,400
O2LH I 260,000& x10H x12& 31,200
203 &R =&H| 9,600 9,600 0
01 J|22HLR=AH| 6,600 6,600 0
Os & (el 38 0l8H) 6,600
04 ENESIHRF=AY| 3,000 3,000 0
ORN2II2F&Y| 250,000& x12& 3,000
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2N

RHM2S

HE: HH2ARY (PH2S)
@2 Jl2&tl (e &)
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
ozg=sY 500
OAZAZ2 X SAHl  7,000& x54! x13H x12& 5,460
02 3524t 14,000 14,000 0
O332= % HA 14,000
202 04| 40,560 37,440 3,120
01 2LH 0 HI 40,560 37,440 3,120
O2LH I 260,000& x13H x12& 40,560
203 &R =&H| 10,900 10,900 0
01 J|22HLR=AH| 7,900 7,900 0
Os&(els80t0|0tH) 7,900
04 ENESIHRF=AY| 3,000 3,000 0
ORN2II2F&Y| 250,000& x12& 3,000
405 X+HoHF SHI 10,000 3,200 6,800
01 A&t = S F SHI 10,000 3,200 6,800
O34 WLteT) 7,500
Ool&al thol X+ WA 2,500
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